The topic of your essay is:

Describe how, and explain why, the Treaty of Waitangi has been responded to differently by people in different
times-and places.

Section 1 of your answer — Write your Introduction here:
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Section 2 of your answer — paragraphs

Each paragraph should:

1. Name and identify an individual and group, and give details of what they did, where this happened, when and why they did this

2. Describe and explain the response to the Treaty e.g. describe their viewpoint and how this led to their response, and what type of
response it is (passive, active, positive, negative)

Write your first paragraph (example) here:
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Each paragraph should:

1. Name and identify an individual and group, and give details of what they did, where this happened, when and why they did this.

2. Describe and explain the response to the Treaty e.g. describe their viewpoint and how this led to their response, and what type of
response it is (passive, active, positive, negative)

Write your second paragraph here:

ﬂ% USQ&JTOX(M %{OWF\G\, wos € \,3{(1(3 :olﬂéd fﬂ
He Q0= Yord Hf\@i( Gool wWo S‘}u/w

%’7 Col{eat C/Qmed ) /f”" ms%hceg/m}f) ch L/,o/afep)
#ﬁt’ freas, Of’ natanai. 1k pI0CGSS Sttt
When He cloGonaunt Tkntitls e iushice dnd
WW@“ m{”@fmm%r\ ‘f/(j —H’l@ ﬁ/é) wfha /\/@\7&’ 7%/ ﬁ,éuna/
Thek fre cldim, ) ake a fﬂ(}y/’"ﬂw/@m&ﬁ on 7o
e GovOin @/%mfa e Govemrert o Qaree or
(}f&féc?rﬁ ﬁmf eithel  lote ‘ff“’“ /UO e % bunn!
Vieps the f‘ffaﬁf ~S” a /”c?ff;///afé ard O (e[

éc&*f*vé; w,@/io,é/ #/ 7@ /5 %@f‘(”/ fbﬁffé’/cf Anc/ wﬁ@

M(‘z) 7[@ ;@ /7/9@ /ﬁ/ ///z/iﬁf:)M AN //7%(;6 aS %M/
(an.




Each paragraph should:

1. Name and identify an individual and group, and give details of what they did, where this happened, when and why they did this.
2. Describe and explain the response to the Treaty e.g. describe their viewpoint and how this led to their response, and what type of

response it is (passive, active, positive, negative)
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Third paragraph: /
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Fourth paragraph (optional — can be used to get Merit/Excellence'— see
marking details)
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Section 3 of your answer - Conclusion:
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